G1XXMF series

IP65 and IP67 DIE-CAST ALUMINUM ENCLOSURES
WITH MOUNTING FLANGE

IP6S

CERTIFIED,

P67

CERTIFIED,

PRODUCT INFORMATION

Material: aluminium Alloy ADC-12 to JAPAN (JIS)

Finish: Natural aluminium color.

Designed to meet IP65, IP67 through the use of EPDM gasket with the universal tounge and groove
seal system.

Wall mounting holes and lid fixing screws are outside the sealing area for real sealing protection.
Mounting Flange is designed on the bottom of the base, so the base can be mounted with M5 pan
head machine screws on the wall easily.

LIGHT GREY(LG), BLACK(BK) OF POWDER COATED ALUMINIUM ;
ENCLOSURES ARE AVAILABLE FOR ORDERING . - -
JUST NEED TO ADD THE COLOR CODE AFTER THE ITEM NO. ’

Ex: G102MFLG, G125MFBK

GI1MMMFLG G113MFBK
51



52

IP65 RATING
(with non-continuous gasket)

ITEM No.

G102MF
G104MF
G106MF
G107MF
G108MF
G111MF
G113MF
G115MF
G116MF
G117MF
G120MF
G123MF
G124MF
G125MF

G104MF

EXTERNAL DIMENSION(mm)

90 x 36 x 30

64 x 58 x 35

115 x 65 x 30
125 x 80 x 40
125 x 80 x 57
115 x 65 x 55
115 x 90 x 55
148 x 108 x 75

160 x 100 x 60

160 x 100 x 81
171 x 121 x 55
200 x 120 x 75
222 x 146 x 55
222 x 146 x 82

IP67 RATING
(with continuous seal)

ITEM No.

G102MF-IP67
G104MF-IP67
G106MF-IP67
G107MF-IP67
G108MF-IP67
G111MF-IP67
G113MF-IP67
G115MF-IP67
G116MF-IP67
G117MF-IP67
G120MF-IP67
G123MF-IP67
G124MF-IP67
G125MF-IP67

G104MF-1P67

EXTERNAL DIMENSION(mm)

90 x 36 x 30
64 x 58 x 35
115 x 65 x 30
125 x 80 x 40
125 x 80 x 57
115 x 65 x 55
115 x 90 x 55
148 x 108 x 75
160 x 100 x 60
160 x 100 x 81
171 x 121 x 55
200 x 120 x 75
222 x 146 x 55
222 x 146 x 82




G102MF

SlE o <|.&
89.50nn_[3524in ] S35 & —ig
83.65mm_[3293in 1 S iz
8lnm_ [3.1890n ] - ‘ 89.50nn_ [3.524in ] 23 ‘
57.20mm _[2.2520n ] EIElEE 2 8lnm__[3.189in ] e Snn [0497in]
28.60nm__[1126in ] |22 sl 2.50mm [0.098in ]
C | I v I S B relits]
i ‘ [ adlem
: N
P> 2 AN ) q I
s 89.5X35.5%05 1
R = "l o
T &l o ]
e
> L 7771 LI
35 & e i = = >
z A 2
&m s FOURA) M3X12nn SECTION B-B
= 3 FLAT HEAD SCREWS SCALE 1+t
90
2g
) Q ]
S 12037 [4.739in ] s
= 10537mn__[4.1490n | 3 8lnm_ [3189in ]
5 =)
¢ - .
= O 5 @ Q) —=
g : 2
3
@ =
I g
o - | e
HOLES(2> ARE DESIGNED FOR MS PAN S| & SECTION C-C
HEAD MACHINE SCREWS USE. e SCALE 141
<515 g s ol . ]
REREs 5 e
i =d o) =l
™
g =|E| gl £ £ £
Dis|® % G 260nn [0102in ] 5 s
=
- R (R : 1
1 o - ‘ p
T a L]
i 97 I 7 112 17 1 1A
SECTION A-A
SCALE 1+ 1
bamn_[2.520in | <|<[<[ &g
58.05mm_[2.286in | SINEE ‘
Semn_[2.047in | 52280 64nn_[2.580in ] o 019700 ]
26mm _[1.024in ] S4nn_[2.126in ] 22/
emn (12600 ] ‘ EEEEEE 250mn_[0098In ||
! o|lo|M| D InH|0
16mm_[0.630in | S| 2| B
[Ip)
@Q)f 1ANE N
N | s\ — =
ZEs D |/ / b‘ D f L g H
no =5
M &
28 ) ‘ A =
e o
-5 £ E
27 e J| © 5|z |
(] =
g 400 SO\ /7 ]
29 N ! ‘ \ il BJ
=2 o c | FOUR (4) MAX20 B
1 - 2
g &T&‘“ FLAT HEAD SCREWS ‘ SSEgATLIEDNl BEB
il 95.05nm _ [3.742in ] _ 52mn [2.047in ] :
ne ‘ 80.05mm  [3151in ] ‘ T ]
=< I T
& ‘ e 2 < - ©—
& © B, 3 ‘ -
3 R =
£ Bv £ =
S z=
< < o (%] | —
e a5 A 2
] P L SECTION C-C ‘
= ©Z SOALE 1 D)- &)
HEEE NG
S0 S <
ISe] iz} 3 =
- oa e
2Y [ =% ge
N =
LA P
14l o =
‘< i i =
|7 D] [ ™M
SECTION A-A £ 4

SCALE 1+1



G106MF

TR (R ARS8 E £l Sun [0197in ]
. . o~
103nn_12055in ] EReEi e 15S0nn__[4547in ] il 250 [00%6in
5150m _ [2.028in ] = I I e 104.80nn__[4.126in | £[e
. £ || E| gl & S|l
78nm [3.071in ] \ TR =B
omn_[15350 ] \ e LRl B B3
| 3183 Il
| L ] B
w5 4%%25 | PREE *iII Q§§f I
af= ~ s
;;\F =) ‘ e D) I
e
N m e & m
g | H
Z7x Qe | Pany ©®
om © I ~ :giﬁ WTZi 5]
vE N\ - i
S0 ‘ C ! —B SECTION B-B
oo 29mn [1.142in ] FOUR (4) M4X20 mm SCALE 2+ 3
G 58mm [2.283in ) FLAT HEAD SCREWS
- =
[ 28]
moO
A
= 146.37mm__ [5.763in ]
Q 131.37mm  [5.172in ] 103mm [4.055in ]
o
e o =
o | 3t £
(@) [ep]
Zr °
&M .
o1 | 4§ l S
patind
E 2 =k
& _o  SECTION C-C
EECmE 28 23 SCALE 2+ 3
S| S| 55| &0 Sz O ——|
|| DB & <
35822 —ls = 5=
— I feptpes
HEEEE 2.60mm  [0102in ] = [ S
s Sl &S S |S g £l £
= | = = £l E
o a8
- [ . = 7
[ ml Ml ) lm M ME .
SECTION A-A
SCALE 2+ 3
15537rn [6‘117i‘n ] —= 124500 [4902n | 15nn [0.591in ]
124.50mm [4903@} |5 1360 [4.4720n] 125500mm ggsgm%
116‘%2”” jf’?;‘”% e 1250 44290 | :20nn [0.098in
e % on <l e 9858mm  [3.88lin |
= 102.12nm 4021in | El&
| 3 ‘ @ B
s —16) T — ] — N o)
£ & | s o e E ij 1
& @ Y ~ ") \\ JE=g i ::::
AT 7 LS I it = » N
% 1 E o 2l&)5
b S a
(o, == -
o i E|E e e clele
=N % ) e ol E|E|E
¢ ‘ alos - 38|23
©19 ® N ( il 53
=
&) (R A j/é
\ B S VY
FOUR (4) MAXRS mm 1140mn [0449in] ‘
FLAT HEAD SCREWS
14137mm  [5.5660n ]
112.50mn  [4.4290 ] ‘
@)
=4
+ o=
<| £
o~ | ™~
T 2|5
—| U —| —]
T <| <
PR £| £ KL
EEEE + £ls b )
Sg o ? 8 - - @
EEEE é el e
: £ &
BB 5
ST
&3
a/ \ \H

54

SECTION _A-A
SCALE 23

ASSEMBLY



G108MF

155.97mm  [6.140in . ‘
12450m | 4902 o< 124500 [49020n ]
11692mm 4603 5|5 11360mm  [4.472in 15mm [0591in |
106 (41731 ] 2= 1250m_ [4429in 12.50mm_ [0.492in ]
etenn (4020 | . 98.58mm  [3.881in 250mm  [0.098in ]
£| £
E|&
B
=13 A ~ )
S EJ \§
2|s J EEE —
Af &5, \ SRS
. adlad|m
E|E 20mn DI ul f
&lSE L ¢ 3 Elgle
IS E @ 32|
N c 3|7 g
& Y
B
- i
FOURC4) M4X25mm ‘
14197 [5:3890] FLAT HEAD SCREVS
250 4,429
o)
+ o
Jr c| £ —
IR ol <
21 !
EEEe T S8
3882 + HE: L e
Slels)s + O e g5
-@- 3|5
&) 5|5 S
. Al
SECTION A=A
s ASSEMBLY
11550nn_ [4.547in ] ]
109.25mm  [4.301in 0 o i i iy R
103nn__[4.0550 SE S5 5|5
5150mn_ [2.028in A A e a9
Jenh [3071n S s 5 o 11550nn [4.547in ] Snn_ [0197in ]
3ok 1535 [ 0 I 104.80mm_ [4.126in ] gle 2.50nn_ [0.098in ]
58mm_[2.283in ] o een 5E|5|5|5|E |3
29mm_[1142in ] \ E EE B 58
LT ? TR e é o
E]é @ > q}(a | 1155X65.5X50 mm I @ @ 73 @f (]
IR & &, b
N & ) 1
3. " = % * J
- .
e © @ | ey 74 © I
m e
2@ ¢ ﬁ % ey @ = 5 B
oM
g —C FOUR (4) MAXRO mm ~— SECTION B-B
<2 FLAT HEAD SCREWS SCALE 2+ 3
3 147.25mm_[5.797in ]
ég ‘ 132.25nn_[5.207in ] 103nn [4.055i ]
7 A3 =
> 41 & s
ul 3 $ 2} ™
< fo g A S
& g5 ESN =
3 '50/»7,,7 oY
3 I> £
L Ain Lile
® o1 | 47 =
il —© o il SECTION C-C
clelgl e L 5E SCALE 2+ 3
28 =8 5 5o
] s s Gl oo
SEEES Ef ==
£l glg|El =3 =
2l5El5 edim [0094n] g O
I =5 =2 ] _
j — z [s(o 1 i - '—g‘
2 25
|| TH ad
|y
I L o |2 f

SECTION A-A
SCALE 2+ 3

55



G113MF

115.20mm 4.535in
109.05mm _ [4.293in
103.36mm _ [4.069in

77mm [3.03lin ]

1.417in
2.835n
3.071in
[3297in
[3543in ]

Smm [0197in ]

: 115.20mm  [4.535in ] ;
‘ 38.50mm_ [L516in ] g 10286nm 412800 ] 2.50mm_ [0.098in ]
29mm  [1142in ] B RILIR
29mm_[L142in | : S B
r T iz -6 a H
4z — BT mhas & , y \& il I
m S D (&) =
< &ﬁ o= I
28 | 55
2 =
5 S ‘ 48
flguig £ [k
=5 gM ’A £
25 L e Al
el ® @3@*\"‘ T @ (F 2 H
=2 Q | zﬁ‘) @ % B
“rm T
=] [
c - FOUR (4) M4X20 —3B
fg 146.95nm _ [5.785in ] FLAT HEAD SCREWS L SECTION B3
n 13L95mn__ [5.195in ] e SCALE 2+ 3
= ~
5 et =
g o N =P P 10336mn__[4.069in |
3 A %
: ofy | 3% £
Zo 2
zZA
[Za=
20
o | =2
w»vm
== S SECTION C-C
& & & 2 o S, TSCALE 23
DO|~ N mO
N~ S a D
—i| — (=) =]\
HoelslS) S 7
B9 s cebmm [odozin 1 [BF, -
a ad \Sﬁ‘g [ Y =
j [l SN D
= Z
I £
4B . =
K il I LI ﬁ_J Il L_,

SECTION A-A
SCALE 2+ 3

G115MF

148.20nn 5,835 ]
142.05nn_ [5.593In ]
T U DR it
M . In .
- 137.22mm  [5.402in ] !

55 165 10mm [0.394in ]
st [1ggoin | ||| (o ptesn L 550 [0098i |
3010mm (1185 ] N B : :

Lt r
vt Tof [ =il J & ul
£F Wb ® <[ <ld o< o< u
% ‘ S92 S =l i
= @ E o)
2% M B deleel e ge
om | w S| 5ol £l S all o
wg c (po126ny A EH el eI 2ls
o0 e pa2ine L SaE N I
s ) B u
& 57
°g = -
% SECTION 3-8
s
z S e | 13350m_[5.256in ]
© 165.47nm__ [6.515i ] ‘ ‘
Pl
[
3 @ . - ]
— ] O
< ™~
<l = B o
=10 N =3
n| ™ —
& 5 c
L S
£ £
SIS ]
©| o
— o S| seeTion cc
< &@ ® = '
a~
E HOLES(4> ARE DESIGNED FOR MS PAN

HEAD MACHINE SCREWS USE.

ElglE|Elg
£ £ £
B S|~ S
DI T}

[q¥]

3.80mm_L0.150in]

e
[2.756in
[2.953in

e

2|
i
o
L
=]
Sl
70mm
75mm

SECTION A-A



G116MF

159.50mn

6.280in

‘ [ ]
1900nn__ [ 7.56in —r 147.70mn (581500 | 20mn  [0787in ]
15950mn_6.280in £1E 146mn [5.748in ) 980 [0.3860n |
158.75mm__[5.975in &|8 129.70mn (5061 | 3nn [0118in |
. ) 140nn [5512in | ] = )]
IS= ’ —
5 ‘ 13375m  [5.266in | EE o
S| S T T F €
an e 2] ) %J & .
£l s o | o B =4 5 (S S N
| & 5 S SIS
o = & R =| =
9 SIS S =55
" = 93 = > H
A 2 LY i / £l gl g
ﬁ ¢, S ﬁ =l £E2 L
£l gl = o | | oy
5| 5|S B R
¥ g 35| &
o © o [ P EEN | ]
(&) 1 B -
11.30nm  [0.445in ] SECTIN BB
FOUR (4) M4X30 mm SCALE 213
176.90mm  [6.964in ] FLAT HEAD SCREWS
146mm [5.748in ]
|
©
4+
" U
+ =e
Sls
38
el k!
4 &5).)
E|E
S + 2|3
clslgls Lo
NS : 5
tlel ‘ =<
clele <|s
£ £
{ or
32
"+
z ASSEMBLY
SECTION  A-A
SCALE 2+ 3
191.63mn  [7544in —— 159,50mm  [6.280in ]
15950nm  [6.280in SIS 147.70mm [5.815in |
15175mm__ [5.975n Bk l46nn_ [5.748In | 20mm 0787 ]
—y— 140nm  [5.51210 | ] 12970nm [5106in ] 9.80mm  [0.386in |
£ ‘ 13375mm__ [S:266in | ‘ £l B 3nm [0d18i ]
g2 = 7
=17 =Te SR © A —
mm'l: I t
EE lo R Ol o ] @ @ﬁﬁ ]
S DS <l<|<s < clsle 1
gl25 & S
[ e . mas = e
ry == R auk a2k 4
t Oy, Blsgls = £lg|s
% 81813 | = R slg|3 =
A N4 eikaaikeN 126 ] =Nk =,
D , , [E2) FB ¥
\’\® @ S 7
17763 [6993n ] 130 [0.445n ] }T SECTIN, BB
146nn_ [5748in ] FOUR (4) M4X30_mn
I FLAT HEAD SCREWS
@
I
+ ]
5|5
3|8
T o)
cle
£|£
elel< + 8|38
clelel s
||| o ' fany
SI8IE|E 49
SIS |25, -®
EIE|E|E
3|78

I

SECTION A=A
SCALE 2+ 3 ASSEMBLY

[2.992h ]
[3189in ]

76nm
8lnm



G120MF

17lnm [6,732in ]
164.86nm_[6.490in | ‘
15950nn_ [6.280in | 17imn_ [6.732in ] ‘
79.75mm  [3.140in | SIX(6) M4X20 rm 161mm_ [6,339in ] Eégmm [[[[]]g;;m]]
4250mm  [L673in ] FLAT HEAD SCREWS S0mn 098in
42.50mm_[1.673in ] B
| I I =
Qz (/T \C J Y R 5
- =) @® I
Tg 66,50mm [2,618in] ﬁ?? Dg §
A 133,00nm |[5,236in] Elals SN
> ! o df o o=
oY a2~ ~ |~
S =) ]
- 1
£l g| g £| £
=] | £l g| £ Ela
Q0 c 90126 &l 8| ==
ma <) #3200 ® = =
S SECTION B-B
mOa
A
= 159.50mn  [6.280in ]
g 79.75nn__[3.140in
= 202.57nm [7.975in ]
3 187.57nn_ [7.385in ] A ©
T
mO
® & _
€ =2 5
>& =
O —
> =]
Am B
>
Mo
A4 e ofF5 5F Ll .
ol els
SR ) ® ® a2
H5E3S MQ SECTION C-C
£ £ = p— )
SEEE 3 <<
g D
NES 3.50nn [0138in ] z NS
H e " " s
4 B
e T I i I
SECTION A-A
231.92mm  [9.13lin 200nn _ [7.874in
200nn_ [7.874in 18980nm _ [7.472in
194mm_ [7.638in 188mm__ |7.402in 20mm  [0.787in ]
) 176mm _ [6.929In 171.80mm 6.764in 180mm__ [0071in |
) 138nm  [5.433in J2mm _ [0.866in B
¢ v
® = 2 —
“lelel<] £lslsls
gRB gIRg| S
@ —
£ E|E £
&- =t =[N =& —
519 ) g
3 B i =
\ 12 SECTION B-B
OUR (4) M4X32 mn SCALE 1+ 2
K 217.92mm  [8580in | FLAT HEAD SCREWS
188mm  [7.402In | )
|
+ ++
el
+ | 8R
+ ek i
REES & S -
R Tkt + 4+
Elz|£|&
w28 '!__=‘£
[so3152]
8|3
&OJ
£|E
m M 7 _im mmrl £F
™~
ASSEMBLY 1

58

SECTION ~A-A
SCALE 1:2




G124MF

22250nm _ [8.760in ] 250 50m (87601
e e 210500 [8287in Srn_[0197in ]
55.40nn [281n ] : : a8 10525mm,_[4.144in 2.50mn__[0.098in ]
55.40mm  [2.18lin ] == E
f T :
184mm__[7.244in ] SR A SIS
9enn_[3622in] _A® - ! ] P W —
& S5 5|5S &ls
& R ‘ ISR NE
v T QY = S Cel sl elle) Eeie)
~E AT S/ &= f
mm ~ 5 Elelglgle ] £
L2 g 8 ‘ Sel558 g5
> & S 5 B el
oY QY = o
I @ Co | o] i
&n 7 I
&) ) 2
Ay B SECTION B-B
Y SIX (6) M4X20 mm
Jg FLAT HEAD SCREWS
wm
=
c
“r M T
Mg g%\ 55mm_[2165in ]
= °on o [-) S0mm_[1.969in |
T
> (@}
g Zz T =
5 23 || £39,25nn [9,419In] &l =
o 254,25mm _L10,010in] >3
om fazlie)
g i e
==z E|E
235 ‘ [
& | ¢550m (00217 s
MmO -1 & —
—|— — = L
88 fss 8 et ¢ to )
|~ = o —
= 2 % <
SEEEE 2
£
23573 2.60nm_ [0102in ] : S —
(g}
H »
. £
o MéE K
1 v
.l J
SECTION A-A SECTION C-C
22250nn_ [8.760in ]
216.35nn_[8518in ] — 22250mm_ [8.760in ] 32nn_ [1260in
‘ 21050mn_18.287in ] SES 210.50nn__ [8.287n ] 2:50nm_[0.098in
55.40mn_ [2.181in ] ‘ Q2 105.25nn__[4144in ]
5540nn_[2.481in | | \ = Kl
L
i
<] Y
o o|lo y
184rm_ [7.244in ] B % SIS 4 @
. 18] Vo] RNs)
92mm [3.622in ] — | fac] K] N
@ S e
IS ‘ S2EE 5l
g = RS feiteileiie) =
[ AT S 3 ==y I fieiit)
= & 5 ‘ Elgleglgl e
mm I el < S| E5 5 £l g
(%] & = o P FE|3L £| £
S o ™Mo = < |\D
B % - i ES QF
v o |C_ | !
9>
sl
&M © Lt 7, ‘
<y SIX (6) M4X45 mm B
Ra FLAT FEAD SCREWS SECTION B-3
= =
wKm
=
C T
(el mO
mo > -
o u; o 1 © ) 82mm  [3228in ]
5 =5 o 77mm_[3.031in ]
w O
< I> —|—
g s 5|E
=) 3l
2y 239,25mm [9,419in] o)
ms 254,25mm_[10,010in]
=} . O
c n [90.217in] -
4 A3 fo- of—=
<l gl £ < f%‘»f
28 35g & Leet °
b= =
EE EEE S
23 S8 2.60mm [0102in ] )
“ H T £ _—
- £
DA
., =
SECTION C-C i

SECTION A-A




